Automotive Electricity and Electronics, 6th Edition
Chapter 20

Name

MATCHING. Choose the item in column 2 that best matches each item in column 1.

1) Control circuit

2) Power circuit

3) Causes armature movement
4) Rides on the commutator

5) Insulates the commutator

6) Contains a overrunning clutch
7) Pull-in winding

8) Hold-in winding

A) Heavy gauge winding
B) Starter drive
C) Armature
D) Magnetic fields
E) Strong resistance
F) Mica
G) Ignition switch
H) Brushes
I) Solenoid

J) Lighter gauge winding

4)

5)

6)



Answer Key
Testname: AEE6 MATCH20

1)G

Page Ref: 239
2)1

Page Ref: 238
3)D

Page Ref: 240
4)H

Page Ref: 243
5)F

Page Ref: 243
6)B

Page Ref: 246
7) A

Page Ref: 247

8)]
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